Wwww.byjusexamprep.com 16 OC@ %&?2

. 2020 T14
wew ASO Mains 2020 v
R - I BookLer No. 201274

AT AT A0 T T FelATarel ESAE T ogor wet « 100
W : 1 (oF) T TE T ¢ 200

(1) TR ARG 400 frard vy ondd. AR !iummﬁﬁmwmﬁﬁwmﬂﬂﬁ%
ﬁusﬂmﬁaﬁymmmewﬂ AT 3T HIE AT T & TTGRADT THIHBIHLT

(2) oNuE ThE—HiE @ A wha-was [ | | T T 11
wﬁ'ﬂmaﬁ:ﬁm A .~
Serdt W 3 Al A

(3) T B FTYRAHT i GHoAT SaTArba fafdree STt Seafberiie FaASHT 7 Rewt T F.
(@) (3) a1 VTGRS T TSI 4 T TH IS ST @A 1, 2, 3 S 4 S H¥A(D (o ST,
AR SRS ot A SOt HHIE SARba IS GEEEATS gl SAYrbat T AT Sl
YT SRURAE SEHHIS T FTT At Wi Wb BT He aeiaer SEe A
BB T, TFRAT Had AT S aioR Tt Yfee 1 e 3 919 .
(@) ST v R T i e e il Hae . 2 P W W9 AU TG PR A T
QTT SATFITH, TAEAT WA W TaraY T 9e=el g el
(5) T WLHAT NI U1 XA, AEd q WA Sa A TS o1 BV TET Arel FEAT UGB I
e 3T 99T QISARd. BN W9 GISRIv STest S YU TEIRT U9 FHE AT @I 9@ 7 gt 6
QTS TIR. ST WETY S YeTgdd QR A Riced URedrd HET RV el TeTihS
©) mﬁ%mwmwmww‘mmm@@mﬁmmﬁmww&
@ﬁmmﬁ%wmawgﬁémmamgﬁwmﬁmwﬁaﬁm
(7) T TV TS e HTAT FAGATIAT SN A ST o1 e AT, T ¢ AEARA
RgFres T T HEi R T e i A S ST S HUE. ST S S
AR Wi G SIS 2 5% FhaT 1/4 701 1/ FTAw dre.”

r qATH=E

an eSS Rt FoO 1T dvdd 8 SeTgRaE JERTH AR A A TR

SHEaTel TAARE aaTe T A9 AR, @ I eheda §e NeAgRad wa/ad, R aw
YSYRAFET FTE AIE FTETE TR GAH T ATLATN B D [, @9 v
O @ T A AT FA HONA TR AR AN FOAT TR Froman i
TRiEY FoaETEA AEET—-8 2" T WgagaR T Wit FAaE Tgegan ST S
5 T A T TG UF TG FIOETHIAT A/ A TF TR @ I i 1=

CER

T T e fifew ¥ ¥ deearendt & FTYRAH SAIRFATS A @ G T ST
FOTY T AT FHETERE, TR T TREPEgaE S a8 st aEifee

FEARAT T AW S9g A

SHT=AT

T

EAPNS << e A g Ra R st jaeeray vt I

(} Scanned with OKEN Scanner



www.byjusexamprep.com m BYJU'S
B 3 T14

1. T ST HSoM TR 240 WHg Hed. ! 15 TRh RIS, Sichesic i Bhe € i @@ €9
o, 1 QTR B O o e 3 G GeR Sl A omd 3 i W 60 o,
e T YET SO WO 80 oY, el afhe Al Qwdrd Rodl %a Dok W,
1) 60 (2) 58 3) 63 «,@-)/64
Out of a total of 240 players in a sports club 15% can play all three games-Volleyball, Basketball
and Cricket. It so happens that the number of players who can play any two and only two of the

above games|is 60. The number of players who can play the Volleyball alone is 80. What is the total
number of those who can play Basketball alone and or Cricket alone ?

(1) 60 ' (2) 58 -+ (3) 63 (4) 64

2. ﬁrsa@rr%m_ggawm%ammg@mloﬁww. X 29 g A BM Hd A
T A B YT Hoard fidt 9 T 2
1 1 4 i 4
(1) 103 fe=w (2) 67 R 3) o f=w 4 feam

Vishwa can finish the work in 8 days. While Srushti can finish the same work in 10 days. If they work
together then how long they will take to finish the same work ?

1 1 4 4
(1) 10—2— days 2 6 7 days (3) 3 days (4) 45 days

3. U EiN ST 99 TS SIS SISTeAT STl 2/5 Sdh 3%, 8 INIHaY of e STgedl Araoedl
TS 1/2 0% T8 a¥ TS ST SIery a9 febeh ? s -
(1) 70 2 60 - 340 4) 62
A person’s present age is 2/5 of the age of his mother. After 8 years he will be 1/2 of the age of his
mother. How old is mother at present ?

(1) 70 (2) 60 (3) 40 (4) 62

4. T AN T S 9 WIS AEN SR, eI A1 Tt Hie-drd Vo 9T B Sfer 7 Rt srgepa
SR X TG quIYEd GT AT aUEl TH Taed ARl S 3. 9 T eI Godrie U
TSI AT ST A% Qe AeqaX T A fehell e STeeiiet ?

(1) 71 . @ 76 0 s (4) 89
—_—

In a certain animal group there are juvenile as'well as adult females. Infant female attains adulthood

in one month and on an average gives birth to one new juvenile female every month for about five

years if conditions are favourable. If there is one new borne female in a group to begin with then

how many females will be there immediately after ten months ?

1 71 (2) 76 3) 81 4) 89
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(@) AT M wiaean T srerEsh N & Z g GushA aTel ey, Ay A TSt N, B Uet o
T SMRT N ¥ Z STeiasht A § M o7& Seiedl AT "I THhH STey Sardel.  FTuHm N
TSt M, Z st A S,
(b) WisHaT 1 HeH Premiea F@w SEIIast qUITE SHST HAT AgT 1 Yol T G 37 5w
Y JATET. U A DS 26, B A5 25, X B3 03, FTYH.

T UTAIGET INVESTOR T ST Hehdl (e,
(1) 0514220919201518 2] 0514210919211518
(3) 0513220919201519 (4) 0514211019201318

Safal and Dia formulated a coding system for texting the messages secretly. This system is based

on following rules.

(@) Replace each letter from A to M by equivalent letters from N to Z; thus A is replaced by N, B
is replaced by O and continued. And letters from N to Z are replaced by equivalent letters by
arranging A to M in reverse order; thus N is replaced by M, Z is replaced by A and continued.

(b) Replace each letter resulting from operation 1 by a two digit number according to its place in
the alphabets arranged in reversed order using; so A becomes 26, B becomes 25, X becomes
03 and so on.

Select the coded form of word INVESTOR according to this system.

(1) 0514220919201518 (2) 0514210919211518

(3) 0513220919201519 (4) 0514211019201318

oy’
6. U@ Hhd El'“ﬂ?fﬂ':[ﬂT{ poachers kllled some tigers’ @l bl 'sto del war vgr' & 3E, tlgers are brave

— N
creatures’ 9T Hehd 'p __LLZ,‘!}}@_');D rgﬂul Kl \311% ‘some watchmen are brave ilTHaTcT ‘sto mul | nul lyn kig" STET
3R ST ‘watchmen are searching poachers’ @l el Gehel ‘deI agf klg Iyn STET SR, 41 W Wl?vﬁ'g’ﬂ]'{
‘creatures killed wath an’ | " fraer.

(1) kig, agf, del \/(2)/vqr Ruz, kig (3) puz del, vgr (4) lyn, kig, agf
According to certain codlng system, panﬁers killed ABme tigers' is coded as”sto del war var',
‘tigers are brave creatures’ is coded as ‘puz war lyn mul’, ‘some watchmen are brave' is coded as ‘sto

mul lyn kig’ and ‘watchmen are searching poachers’ is coded as ‘del agf kig lyn". Select the code for
‘creatures killed watchman’,

(1) kig, agf, del (2) var, puz, kig (3) puz del, var (4) lyn, kig, agf

7. wd femenfen T 3/5 A omdq oMY TN 1/3 R UMY 75% w1 aX 07 Preaw. oK 15

ngﬁmﬁn%wargwﬁmﬁmmﬁmﬁmw
(1 75 ' (2) 90 (3) 60 30

In a group 3/5 of all students are girls and 1/3 of girls scored above 75% marks in English. If 15 girls
have scored above 75% in English, then select the option that indicates the number of students who

are not girls.
(1) 75 (2) 90 (3) 60 (4) 30
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g feremiqH T gfRamen s o fraer. x gN=12°
(1) ¥HENER JgdW vt Redia e e . ,Wtffg;\w
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(3) WHEITER VAT SURRIEIE THET B Ia Y.
(4) "HEET FRAEEUEE Rewaendr & T draEEd .

Many people suffer from depression in modern society. This can be alleviated through certain
drugs that alter the chemical balance of the brain. However, the individual can undergo
psychotherapy that involves talking through problems with a sympathetic and skilled fellow human
being with a view to putting the subject in a more positive frame of mind. Depressed individuals
who do not like the idea of their brain chemistry being altered should therefore choose psychotherapy.
Select an underlying assumption of the above argument from following statements.

(1) Psychotherapy does not alter the brain chemistry.

(2) Psychotherapy is more effective than drugs in treating depression.

(3) Psychotherapy cannot be combined with drug treatments.

(4) Depression is always there with human beings when he came to existence.

9. @Wﬁwmmﬁmsa@ GERIGIN AE I qeard gl i e ?

110 (4) 107

(1) 109 (2) 112
dd numbers is 103. So what will be the average of the two

The average of the Nine consecutive o

largest numbers of them ?
(1) 109 (2) 112 (3) 110 4) 107

10.

%WWW 65 & Tl I M.\ o, B 'og

m%mﬂﬁsﬁwmwmmwm@mmm. T WS T oS

mmﬁwwmwmmomw. a‘ﬁq‘mratﬁ?hﬂazﬁaamm _33)?
WIGETd 175 o1 Tfel AT, ar FfedreaT ST R T G e Frrst £ oy
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(1) azmmémmamﬁmeﬂwwmmﬁw

ﬁ'mammmmﬁmﬁwm@mwa&wm% L° “"og

@) e FrediEh g BT Ae) Brad) gue o Wl wl

i nti d every day and same is the case with the
Each hicken consumes equal quantity of foo y day . :
Smcall 2rwilch:gssc (I)cne large and two small chickens feed on 100 pellets of chicken foodinaday. 175 _ 99
pellets of food are needed for feeding two large and three small chickens in a day. Select the false -

st options on the basis of this information. ' |
(lé)‘teﬂ}i?rtt;rgz'eg are sufficient to feed one small chicken for little longer duration than 24 hours.

(2) 450 pellets are needed for feeding three large and ten small chickens every day.

(3) For feeding one large chicken for a day 65 pellets are sufficient.
(4) Large chicken consumes double quantity of food when compared to small chicken.
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(a) EHE ¥ @ Az raean e ors.
(b) @ AfE=rear wfwan tard 5 Al o,
W S
(1) (@ T (b) I ST
(2) W (a) geoit A

\/(ZL/ W (a) T (b) gsht am—

(4) B (b) QXS

Decide sufficiency of data with respect to the question : On which date the last Sunday of month
March was ?

Data statements :

(@) The last day of that month was Friday.

(b) The first Sunday of that month fell on 5th.
Answer options :

(1) Both (a) and (b) are necessary.

(2) (a) alone is not sufficient.

(3) Either (a) or (b) is sufficient.

(4) (b) alone is not sufficient.

12. WTAZB e & AR B ol o & A BmeweiAﬁrBiﬁaawan%AxBaTaxeiA%B%tasﬁmn%a
amfer A+ BﬂTﬂﬁAHBﬂTWﬂﬁﬁTNHMﬂTWmWGHﬁﬁWﬁW

P-L+E-M) (2 ~YXP-N+E (3) N-Y+A+M+E (4) N+ C+FxM L

If A+B means A is the mother of B; A—B means A is the s??er of B; AXB means A is the father of B
and A+ B means A is the brother of B. Then select the statement that means N is the maternal uncle
of M.

(1) N+P-L+E-M (2) M-YXP-N+E (3) N-Y+A+M+E (4) N=C+FxM-L

51 FTAIS AT / SPACE FOR ROUGH WORK

(} Scanned with OKEN Scanner



m BYJU'S

WWW.byjusexamprep.com

B 7 T14

13, ST A B, B Fread et v et < e shon
v
(@) oo P A QA e s e, S o
(b) forar gE0 o
(c)  SFT STEI Aet 3t wor o Wi emreft . A
AT

(d) Tra™ TER 9| %,
T S ¢

(1) Sg), (b) (@), (c) (3) (b) (@ 4 (b), (d)

- —

Identify two facts that prove conclusion, “Mita beat Jamna” to be always true.
Facts :

(a) Jamna and Mita both beat Tani, who finished last.

(b) Mita finished runner-up.

(c) Jamna beat Tani but did not stand first.

(d) Mita beat Shama.

Answer options :

(1) (a) (b) 2) (@ (9 3) (b) (9 - (4). (b), (d)

14, Wi Rewwe deaw] o1 @ ST GO HA THARE €k ed. W 44 aghus A wew
S o T @ A e g GureAT W STodrel §Hrear s

(1) 1/6 (2 °Id 3 17 /@(\6/7

There are seven Christmas gifts and seven correspondingly tagged identical boxes. If the gifts are
randomly put in the boxes, select the probability that exactly six gifts go into the correctly tagged

boxes.
(1) 1/6 (2) Zero (3) 177 4) 6/7
""'\C)’
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(a) T PEIFIT WO o\
(b) HTE! THferaT T ST, 0
(c) Y T wigar amed.
(d) HTET BT WO ST,

T T
1) % (@) 7 b) AR (@) 7 ()
@) W@ T @ w6 T

Select valid conclusions.

True statements : Some queues are animals. Some animals are wrestlers. All the wrestlers are

poems.
Conclusions :
(@) Some wrestlers are animals.
(b) Some poems are queues.
(c)  All the queues are poems.
(d) Some poems are animals.
Answer options :

(1) Only (a) and (b) (2) Only (a) and (d)
(3) Only (a) and (c) (4) Only (b) and (c)

16. HESIIA UTE1 STNHST SATDHS BT HF TG A ? A
(1) ¥, i, oS, BisT Y

:§ "iii) GTEHT) qﬁ_g—]’, a“‘?lill N\
(3) e, G, WieT, aren
(4) STiSIE, BIST, P, St

Which of the following sequence of ghats in Maharashtra from north to south is correct ?

(1) Kumbharli, Amba, Amboli, Phonda
(2) Kumbharli, Amba, Phonda, Amboli
(3) Amba, Kumbharli, Phonda, Amboli
(4) Amboli, Phonda, Kumbharli, Amba

17. SOET 2001 ST 2011 THIG 310 Ryeamey ey TEY BT,

(1) 27 smfer 47 (2) 48 amfr 51 37 &riftr 51 (4) 50 anfer 56
As per the census 2001 and 2011 and towns exist in Thane district,

(1) 27 and 47 (2) 48and 51 (3) 37and51 (4)

50 and 56
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(a) mﬁﬁﬂ%‘ﬁﬁﬁ Semme gy o,

(b) 4o SR TR i I rowrenn Ry s, v

(0 WeE U™ Hiia® 85%s 307713 1.7

A fo.dr. ame.

(1) W [O8E (a) SUE &L 2) ad fau™ (b) SUST TR.
(3) WA [IU™ () FUST . 4) faum (a) ST (b) IS ARG

Observe the following statements :

(a) Jalna district is located to the east of Hingoli district.

(b) Dhule and Nandurbar districts have borders of two states.

() The Geographical area of Maharashtra state is 307713 sq.km

Answer options : |

(1) Only statement (a) is incorrect (2) Only statement (b) is incorrect

(3) Only statement (c) is incorrect (4) Statements (a) and (b) are incorrect

19.

Gﬁé‘ﬂTW:

e AGH
(a) TsfaAe () Toreet
(b) &R (i) <=
(c) ifea (i) e
(d) wHsSTaO - (iv) wrEen
qqE S ¢

(@) (b) (c) (d)
(1) (i) i) (v ()

(i) (). (D)o (iv)s
(3) (iv) (i) (@) (i)
@) (i) (@v) (i) ()
Match the following :

District Taluka
(a) Gadchiroli (i) Jiwati
(b) Chandrapur (i) Deori
(c) Gondia (iii) Mulchera
(d) Bhandara (iv) Lakhani

Answer options :

(@ (b) (9 (d
@ (i) @iy (@v) ()
@) (i) @) @) (v)
(3) (v) (i) @) (i)
@ @iy (v) (i) ()
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(a) WA AT & ATl SUGT STgA o geds SiTire saie Ruq o,

(b) YT ST I AT MR TSI JUT TR

@ S
(1) R (@) O om (2) faum (o) ST o
\/@a/hvﬁ(a)anﬁr(b)m‘maﬂa (4) faum (@) aln (b) s T

Observe the following statements :

(@) Pravara is a tributary of river Godavari and located to the north of Harishchandra mountain,
(b) Wardha and Vainganga are the tributaries of river Godavari.

Answer options :

(1) Statement (a) is correct (2) Statement (b) is correct
(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are not correct
21. W@ foum e

(a) Wﬁmmmamammmm

(b) mﬁammww,mwamwﬁmwm
A W

M (a) TR (b) TSI \/Q/(a) TS (b) T
3 (@ TF b T @ (@) ST (o) o
Observe the following statements :
(@) The Indravati and Pranhita rivers form the Southern boundary of the Gadchiroli district.
(b) The Indravati forms a boundary with Chhattisgarh state while the Pranhita with Telangana

state.
Answer options :
(1) (a) and (b) True (2)  (a) True (b) False
(3) (a) False (b) True (4) (a) and (b) False

22, WW@WWHQM@W?
(1) 1. qEsit famT e - 2014 v('z)’i'ﬁmamn‘m?msg

(3) ETEX ST AT — 1995 X (4) U & Frer - 2011
When and which house building scheme was started in rural area of the state ?
(1) Dr. Mukharji Niwara Yojana - 2014 (2) Indira Awas Yojana - 1989
(3) Jawahar Awas Yojana - 1995 (4) Rojgar Hami Yojana - 2011
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LRGEIREER AT
(a) STTET (i) @R p
(b) STTYR i) T _‘d(— y
(© CIRRISLE (iii) \ﬁ;‘a-rq;{-
(d) ®i®u (v) =St
@ S
(@ (b) () (d)
(iv) (i), (i)« () »
2 () @) i) (iv)
(3) @iy () () (V)
@) (@v) @iy (@) (@)
Match the following :
Administrative Division Tahsil
(a) Amravati (i) Khalapur
(b) Nagpur (i) Sengaon
(c) Aurangabad (iii) Bhivapur
(d) Konkan (iv) Ghatanji
Answer options :
(@ (b) () (d
@ (@v) Gii) @) 0
@ @) @) (@) V)
@) iy @) (@) (v
@ vy @) @) (D)
24, PR THEED WWWW
EREEI IR

(1)
Which cyclonic storm affected the

(1) Nisarg (2) Gulab (3)

foret (2) TS AT A

coast of Maharashtra during 17-05-2021 ?

None of the above
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(b) N@Fﬁm@?mﬁﬁﬁwawﬁsﬁwm e,n%,,‘
T e -

mwwﬂﬁﬁmmﬁwwmm
(2) = fqum g emy. |
@) I Prum T wig g Rreret e R de e .
(4) diesr fram Ry Y W .
Consider the following statements - |
(@)  The highest rain in Maharashtra falls at Amboli in Sindhudurg district.

(b) Mountains on three sides of Amboli and the entrance to the wind is open.
Answer options :

(1) Both the statements are correct and second is the correct explanation of first.
(2) Neither of the statements is correct,

(3)  Both the statements are correct but the second is not the explanation of the first.
(4)  The first statement is correct but the second is not correct.

(3) g wemw (4) @ gy
Which union was established by Dr. Annie Besant on 25 September 1916 at Madras ?
(1) Homerule League (2)  Common Weal

(3) Hindu Mahasabha (4)  Swarajya Sangh

27. ‘aém@wm?ﬁlmmawwvﬂu'%mww@aaéﬁ?
(1) S S (2) ot

(1)  Bramho Samaj

(2)  Arya Samaj
(3) Prarthana Samaj

(4)  Satyashodhak Samaj
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28. Wmﬁm WWHWWWW@W
S 2) & ¥ER (3) wwaE e (4) W Y

——

__ proposed the concept of Antar Bharati to ensure that | ; ,
" ! e from d
acquainted with other cultures and languages. people from different regions were

(1) Dr. Munje (2) Dr. Hedgewar (3) Lokmanya Tilak (4) Sane Guruji

29. ¥ BT AT AT DU ST Hied ?
(a) o dee e R
(b) WHINET FIHET T FHIoAT ATl
(c) U (1882) NPT SEINTE (1887) feremdiai=l TamaeT e,
(d) e anftr Sfsew freomer wea . o~
Tl S

1) ®)© @ @ (@ (), @ \)3?,/@ (d) 4) @ © @

. "-/ . .
Which changes took place because of Hunter Commission ?

(a) Priority was given to private sector.
(b) Department of Public Instruction was established.
(c) Punjab (1882) and Allahabad (1887) Universities were established.

(d) Importance was given to Physicél and Intellectual Education.

" Answer options :

(1) () (0, (d) 2) (a), (b) () 3) (b) (d) 4) (@) (), (d)

30. 1887qeﬁqmas)mﬁﬂﬂaaﬁﬁaﬁﬁ qemE g i e,

(1) e e (2) WA TS
@) i s \ TR T

presided over the congress session held at Madras in 1887.
(2) M.G Ranade

(4) Badruddin Tayyabji

(1) Dadabhai Nauroji
(3) Moropant Joshi
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31. GUOTGHREIAT Heedl Braierqdredr Sren e :

(a) TR WG TESHT (i) FwiEa

(b) STIY YIHT S (i) QBN " (1927)

(c) ufear e (i) T o g

(d) ST deE (iv) I e Toghem dEEd

Rl S

(@) (b) (c) (d)
1) (v) (@) (i) (i)
) () @v) () (i)
@) @i)s () (D) (iv)
(). (v) () * (i)

Match the following works done by Social reformers.

(a) Dadoba Pandurang Tarkhadkar (i)  Mukti-Sadan

(b) Jagannath Shankar Sheth (i)  Farmers’ Federation (1927)

(c) Pandita Ramabai (iii) Manav Dharma Sabha

(d) Punjabrao Deshmukh (iv) Bombay Native Education Society

Answer options :
(@ (b) (c) (d)
M Gv) ) i) (i)
(2) (i) (v) @) (i)
(3) Gy () (i) (iv)
@ Gi)) @(v) @) (i)
32. gOUATTYS Howdr R A ama ?
(a) & HEWOT T FHIHT R Qraanfeds q& ey,
(b) WWMWWW%WW. Va!
(©) ey e St 9. 7 sy g g we.
(d) Wwwm’mmmwm. —
T Y ¥

(1) (@), (b), (0 foem st=T sma 2 (2) (), (d) forem SRR o
(@), (0), (d) frem s0a% o (4)  (a), (b) e ST amq

Which statements are true regarding Newspapers ?
(a) Bhau Mahajan started weekly ‘Prabhakar’,
(b) Acharya Bal Shastri Jambhekar ran ‘Induprakash’ Newspaper.

(c)  ‘Shri Shahu’ and ‘Shubhsuchak'’ Newspa istri
: pers started from Kolhapur D
(d) Vishnu Buwa Brahmachari express mandis
Answer options :
(1) (a), (b), (c) statements are correct (2)

a), (d
(3) (@) (c) (d) statements are correct @ (a), (d) statements are correct

(@), (b) statements are correct
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33. 3.4. 1910 A ST A Ry e e weh.  HEEAd goA HRI HS A 7

(1) e , LIEE-AR 3) fawe (4) T
Hindu Mahasabha was established in 1910 at Allahabad. Where was its headquarters ?
(1) Ayodhya (2) Haridwar (3) Delhi (4) Rameshwar

34.

TS Far faam oiear ¢

(a) . TR FRTHTR TR Y Ty @ e, O

(b) . STERY S¥EEHT TAT g TER Rd Avplw wr ¥ gees ami. 2

(c) Ul Tt odd Were TiEh o <. SRy ASEHT A YA Wa HAIK q
(d) ‘“HeR | T Wt fren Rresfamrd wear ar g e yis beiae anel el
S

_
O @@ FRGEa x 2@ ), @ fe s o

(3) _(b), (0. (d) Frem s st <) @) (o), (d) faum s an%:a}c

——————— ——

Which of the following statements are false ?
(a) Dr. Babasaheb Ambedkar established ‘Harijan Sevak Sangh'’.

(b) Dr. Babasaheb Ambedkar started ‘Samata’ Newspaper from the donation given by Chhatrapati
Shahu Maharaj. '

(c) In the first Round Table Conference there was dispute between Mahatma Gandhi and
Dr. Babasaheb Ambedkar regarding separate constituency for untouchable.

(d) “Mahar Mang ltyadi Lokas Vidya Shikavinyasathi Mandli” to this institution assistance was
given by Dakshina Prize fund.

Answer options :

(1) (a), (), (d) statements are false (2) (a), (b), (c) statements are false

(3) (b), (c), (d) statements are false (4) (c), (d) statements are false

35. Sty g B 39 29T Wi SR, O i GEo e o, orell WA Hioh SHed e ot ?
—_—— =

(1) o e (2) YFTE W

A3 TR ATABT (4) T W

FST FHEIS AN / SPACE FOR ROUGH WORK

Who expressed his grief by saying that farmers and workers are real strong pillars of the nation, but

they are now suffering ?
(1) Ganpat Patil (2) Mukundrao Patil

(3) Krishnarao Bhalekar (4) Yashwantrao Deshmukh

PT.O.
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36. ‘grfe gran onfor arnfeies fomr w1 fawa  wel geifyee o st o,

\/qq’qﬁ@ (2)  wifyepTT (3) Ty (4)  Hoge

‘Social Security and Social Insurance’ is a subject included in

(1) Concurrentlist ~ (2) Residuary powers (3) State list (4)  Union list

37. 26 RTT 1949 ol Welriiadl WTelv WRITTET HIORAT AT i et ?
(a) T W aRd S -9
(b)  Fasv@ deeht T gty
(© T SR v
(d) ?ﬂam&m »
@ S
(1) (a) ST (b) (2) (@), (o) ST (d)

@), (b) 31T () (4) i@ TR
i

Which of the following provisions of the Constitution of India came into force from 26 November
1949 ?

(a) Provisions relating to citizenship.

(b) Provisions relating to elections.

(c) Provisions relating to provisional lparliament.

(d) Fundamental Rights.

Answer options :

(1) (a) and (b) (2) (@) (c) and (d)

(3) (a), (b) and (c) (4) None

A1 FTATE AT / SPACE FOR ROUGH WORK
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38. WIS BT WS Jrg o ? /},ﬂ (ELAQ)
(a) T T . 143 19 M«san ]
(b) W@ﬁlﬁaﬁﬁﬁmm . (@ 29T 30) _—
() USTHD AT ok . @ 32)
(d) WWW ) (e 253 28) o
g i st
M @00 AT ®)© o (3) () (©) (@) mﬁa wd
Which of the following Pairs are matched correctly ?
(@) Right to Liberty - (Art. 14 to 19)
(b) Cultural and Educational Rights - (Art. 29 and 30)
(c) Right to Constitutional Remedies - (Art. 32)
(d) Right to Freedom of Religion - (Art. 25 to 28)
Select appropriate options :
1) (@) () (9 (2)  (b), (0) (d) (3) () (o), (d) (4) All the above
39. _yiftrset onftr Gl arfear ST Hehee qRAY e e dad we Wi
I T WEY YN BT 3 R,
(1) 25,28 (2) 23,43 (3) 36,51 \/MA, 18
The concept of equality of status and opportunity has been given concrete substance and shape in
Articles to of the Indian Constitution. .
(1) 25,28 (2) 23,43 3) 3651 (4) 14,18
40. WA TogEAEA WM ?
(1)  STEETe, TR, SIS, S, s
2) |, GETETE, TR, Y, T
(3)  wrdel, TOTeY, TSI, SHIATAE, T -
A, qETeTEd), eHiTeE, JetrEdr, TR
Which of the following order is correct in relation to the preamble of Indian Constitution ?
(1) Democratic, Republic, Socialist, Sovereign, Secular
(2)  Sovereign, Socialist, Republic, Secular, Democratic
(3) Sovereign, Republic, Democratic, Secular, Socialist
(4) Sovereign, Socialist, Seqular, Democratic, Republic
PT.O.
F HHETS SR / SPACE FOR ROUGH WORK
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(a) oMt W 28 ¥, 1990 At e ael, \

(b) ST IR GEET 11 e, 1999 e Fevard o,

(© T fome afvwdel @i 1950 e w, >

T S

(1) % (a) 2 % (b) W (©) (4) Tl ATy

Select the incorrect statement

(a) The Inter-state council was set up on 28 May, 1990

(b)  The Inter-state council was reconstituted on 11 November, 1999

() The National Development council was established in 1950

Answer options :

(1) Only (a) (2)  Only (b) (3) Only (c) (4) None of the above
42. = @& — (& witwirear wfeem wawm)

IAI IBI
() (AeTeE)

() wARTH g () g Wid 9 W

(b) wTEAY Srerdy (i) fEer

(©) zgErh Jemge (i) e

(d) TEFE o Bk (iv) #EE

@ TR :

(@ () (o) (d)
1) G () (v (i)
(i) (iii)e (iv)~ (i) .
() Gii) (i) () (v)
@ Gv) Gi) (i) (i)
Match the pairs - (Women members of Constituent Assembly)

‘A B’
(Member) (Constituency)
(@)  Sarojini Naidu (i)  Central Provinces and Berar
(b) Malati Chowdhary (i) Bihar
(c) Dakshayani Velayudan (iii) Orissa
(d)  Rajkumari Amrit Kayr (iv) Madras

Answer options :

(@) (b) (c) (d)
(1) Gi) () (iv) (iii)
(2) @) (i) (v) ()
3) (i) (i) () (i)

4) (v) @) (i) (i)

F==A1 FTAIE AN / SPACE FOR ROUGH WORK
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43. Sl @@t - (U A qrisfe aw)
A -
(F) ()
(@) HHE HIYM™I G”EJQ'}H ‘ (i) 48
(b)  EHH = NPT Wiwd wrRfyvus qrera (i) 41
(¢) m &t wiagy (ili) 44
(d) I TN FIER (iv) 39A
@l S
(@ (b) (c) (d)
(1)  (v) i) (1) (@)
(2 @) G @) (iv)
(3) i) ) @Gv) @)
‘/(47' (iDe  (iv). () . (i) »
Match the pairs - (Directive Principles of State Policy)
A ‘B’
(Principle) (Article)
(a) Right to work (i) 48
(b) Equal justice and free Legal aid (i) 41
(c) Prohibition of slaughter of cows (iii) 44
(d) Uniform Civil Code (iv) 39A
Answer options :
(@ (b) (c) (d)
(1) (v) (i) (l) (]i)
2 (@ @G (i) (v)
3) () @ (v) (iii)
4 (i) (v) @) (i)

vt v dfrer e fafee e A s o -
o

(a)
(b)
(c)
(d)

L0 () i r g

(aferch)
YooY el
qervd STt S9-aRidl
Har e |t
EEATH ardl

% (c), (d)

(3)

-
(sreas)

TG 86

S e
STATE T ATE —
AT STYA HAH HATHAE

% (b). (©), (d) \,«4/ (b). ()
nfittees of Constituent AssemBly of Indias

(1) wad (a), (b), (© (2)
Select the correct pairs of various com nt
‘A B

(Committee) (Chairman)
(a) Advisory Committee _ - Jawaharlal Nehru
(b) Fundamental Rights Sub - Committee - )B. Kriplani
(c)  Union Constitution Committee - Jawaharlal Nehru
(d) Minorities Committee - Maulana Abul Kalam Azad
Answer options :
(1) Only (a), (b), (¢ (2) Only(@ (@  (3) Only(b) () (d) (4 Only(®)

P.T.O.
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45. wmw fqum famog &= e
(a) T ¥ FHrEw el e o
(b) ﬁwﬂaﬂmawaﬂ%‘)ﬂ
(c)  foreresten wefEmaTOr S 5 gyt arar, A——
(d) Wmmaoa&waﬁmswm. o

aﬂaﬂaﬁﬁwﬁﬁmﬁaﬁmﬁa?
1) (@), (b) (2)  (b), (c), (d) Wx (d) (4)  (b) (d)

Consider the following sentences :

(@) Vidhan Sabha is a Permanent House

(b) Vidhan Sabha is a Upper House

(€)  Normal tenure of Vighan Sabha is for five years

(d)  Member of Vidhan Sabha must have completed 30 years of age
Which of the following sentence(s) are false from above ?

Q) @) (b) @ () (@) (d) (3) (@) (b), (d) (4)  (b), (d)

46. WWWWWWWW.
@) WHWP«'@#%;@@\W &
(b) Hﬁwﬂ%@vmﬁﬁa@a@
(© T faurae Pratde geey

€ consisting of

1) %aa(a) \.,(2‘)/(b) AR () Few (3) (c) sTftT (d) e (4) %% (d)

(d) Only members of Parliament.
Choose the correct answer from codes given below :

(1)  Only (a) (2) (b) and (c) only (3) (c) and (d) only (4 Only (d)
M
(1) .

(@) TV A 5, 1oommmww.

Princi —_
rinciple of Qt_ullotme means

1) A specific amount of sum js reduced.

(2) The amount of demand i

(3) The amount of demang
(4)  The demangs are dire

INNANaAsYaYeYs) (Wa)
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48, I AT RIS Fryad ,
(a) @ T 35 mé'Um%ﬁqulﬁ.Tﬂ,ﬁm_@mﬁEM T

®) @ e SR de < e e o e
fofan
() T =AM I AT < A afed Bl s T,

o
(d) LU qa Y i
s WS HEdas oram.

&U @), (b) ;WT ) (2 (@ (9 e (d) (b) fher (c) (4) (b) fba (d)
person to be appointed as a judge of 3°High Court, should have following qualification3’:
(a) He should have completed the age of 35 years.
(b) He should have held a judicial office in the territory of India for ten years.

| OR
(c) He should have been an advocate of a High Court for ten years.

OR

(d) He should be a distinguished jurist in the opinion of the President.

Answer options :
(1) (a), (b) or (d) (2) (), (¢) or (d) (3) (b) or (© (4) (b) or (d)

49. WIS HIVA TUTATAT TSI T 0 7
WW(QW)WWMWWW.
(2) 9T USTET Hiehie Teb a9l SBar oal.
(3) HEEY TR ¥ Yeris qul TR TR TRiel SrEud U SR\
4) HRAR e Je3 A JEUd FRUM & U SeL——

Which of the following is not true about Sheriff ?
(1) The office of sheriff of Mumbai was formed by Letters Patent Act of 1823.

(2) The term of office is one year.
(3) The sheriff of Mumbai is a post with no statutory status but with prestige.

(4) Only Mumbai in India have the post of sheriff.

(2) <TegEeET SEIE T gaae e oY HARIH Rerehre a4
(3) rsgadrEAl ol W@ e o SUEWIA! (ASUHETS! SEd.
Wﬁaﬂm@ﬁmﬁ%ﬁmmmﬁﬁa@@mﬂwmm
TEE qiq (TZYdTeAT Fasvd TEa

ments is correct ?
Sabha is elected only by the elected members of Parliament.
Sabha shall preside over the joint session of both Houses of

Which one of the following state
(1) The Chairman of the Rajya
(2) The Chairman of the Rajya

Parliament. ) . ) .
(3) The electoral college for the election of the Vice-President is the same as that for the election

of the President. ,
(4) The nominated members of both Houses of Parliament have voting right in the election of

the Vice-President but not in the election of the President.

FT FHETETS ART / SPACE FOR ROUGH WORK PT.O.
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51. QW fauN faame =i e

(a) mewwmmmwﬁmﬁmwwmaﬁ
g & TR,

(b) Traren fuftmeah wewr T AR e U T A 9Ed.

() wifwemma sy freafo g1 Fomr fre g A e T A S T
ST ST 3. ‘

(d) g@wﬁwmﬂ%mﬁﬂwﬁmy

TR S :

(1) Foum (@) o (b) s s 0

A2 T () st (o) TR o

() fqum (b), () efr (d) ST s D
@ faum (@), (o) sfT (d) ST oA 4

Consider the following statements :

(@)  According to the Constitution of India a person must prove his majority in the Legislative
Assembly before he is appointed as Chief Minister.

(b) A person who-is not a member of the State Legislature can be appointed as Chief Minister.

(c)  Theassessment of the strength of the ministry is not a matter of private opinion of any individual,
be he the Governor or the President.

(d) The salary and allewances of the Chief Minister are determined by the Governor.

Answer options :

(1) Statements (a) and (b) are correct

(2) Statements (b) and (c) are correct

(3) Statements (b), (c) and (d) are correct

(4) Statements (a), (c) and (d) are correct

52.

RIS, 9 T A1 G e Trogiet fffdiven arq s s gear s e
g ¥ T BRI W3 TV ey T

(2 faedd

(3) HUarET

(4) B

What was the bone of contention in the way of creation of the two linguistic states of Maharashtra

and Gujarat ?

(1) Bombay city to be a separate, centrally administered territory

(2) Vidarbha

(3) Marathwada

(4) Kutch

=41 FTHIETS TN / SPACE FOR ROUGH WoRk
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53 WﬁWWWWW%—WQWWWWM?
HET-XI (HEH 245 o 255) @ X @ 204 Y
() VI8 242 (4)  SI-XI (F 264 & 291)
2e\r/:/tri1(i)cnhedpa?rt and article of the Indian Constitution, Central-State Legislative relations are
(1) Part:X {article 245 to 255) (2) Part-X (article 244)
(3) Part-VII (article 239 to 242) (4)  Part-XII (article 264 to 291)

4. forerow drorrea frdreg 18 SRR 1055 el frerr were var sder e e e B e ?
(a) @I W9 (b) o e (€ W T (d) B 6w
R ” 4

(1) %a@ (a) T (0) pﬂ m(b)a(d)\/@a/m(a)a(b) )(%)/W(c)a(d)

Whd Ted the protest march on the Legislative Assembly on 18th November 1955 against the
tri-state Scheme ?

(a) Senapati Bapat (b) Acharya Atre (¢) S.K. Patil (d)

Morarji Desai

Answer option :
(1) Only (@ and (¢) (2) Only (b) and (d)

SS.WmWWWWMWW? |

1) oaEETe SgAd e E I e e,
/(afaqgaussmm?ﬁg@ﬁwmwmmvﬁ@n

3) AT AT R e .

@) i i e S B et et R e .

d in the S.R. Bommai Vs. Union of India case ?

(3) Only (a) and (b) (4) Only (0 and (d)

What did the Supreme Court hol
overnment should be tested and proved on the floor of the House.

(1) Majority of the State G
(2) The Chief Minister should be consulted before imposing Article 356.
(3) Veto power should be given to the Governor

tes should get a bigger share of the taxes collected by them.

(4) sta
TS FrEre ARN / SPACE FOR ROUGH WORK P.T.O.
INN/Mira) /Mayavawa
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56. W ToUoeq WA WIeiete G fium g amd? .

(a) 368@1%@%@@%%%@1%8@
TN TEHAN ATyt o, )

(b) %UMM% e Ry oy Rba e ore W SUReR T TR Ry

(c) Mﬁwﬂumw 9 mwwsﬂ?ftqcvuldiﬁwr@lmwmwal
S It SRS B ST e 7 e o o e e WO AL

Wl feiean vatary dva wacE frae w40

1) (a) &R (b) (2) () R () A_Br TS THE A (4) e ()

Which among the following statements are correct regarding the Indian Constitution ? _

(@)  To amend the Constitution under Art. 368, two thirds majority of the total membership of the
houses of the parliament is required.

(b) If any question arises in state as to whether a Bill is a money Bill or not, the decision of the
Governor shall be final.

() No person shall be prosecuted and punished for the same offence more than once, including
any departmental or administrative proceedings.

Select the correct answer from the codes given below :

(1) (a) and (b) (2) (b) and (¢ (3) None of the above 4) Only (0

(1) ST THE TER

(2) &% R @q: T
\/(S)/TFZQ??IEIT STTATER A8 T R

(4)  TOUDH Tewdy T

If a person is appointed as a Governor

be paid as following :

(1) From any one state

(2) From Central Government

(3) President will decide the Pproportion of payment from concerned states
(4) None of these

58. fa=es mﬁwwWWwWWﬁéﬁ?
xﬂﬁ#wwﬁsﬁm%m%ﬁm%ﬁ.
) WWWWWWWWWWE’C
(3) TIhEAT T HoT HEH.

(4) %a® dHsIE

How can the Comptroller and Auditor-General be removed from his post ?
(1) By the same process as the judge of the supreme court is removed.
(2) By the same procedure as the Attorney General of India is removed.
(3) By passing the proposal in the Lok Sabha.

(4)  Only with the advice of the Finance Minister.

for two or more states, his honorarium and allowances will

. AT FHTATETE A / SPACE FOR ROUGH WORK
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59. @aﬁﬂﬂﬂ%aﬁmﬁaﬁwww?

" Which of the following is not matche

(1)  Article 64-Vice-President shall

: : be the Ex-Offici i i
(2) Article 66-Vice-President's election. cio Chairman of the Council of States.

(3) Article 69-Swearing by the Vice-President.
(4) Article 61-Tenure of Vice-President.

d correctly ?

60. mmmmmmwmmm?
(1) = T it freg .
(2) WIS YSdN Ua AR S,

(3) @ fFfiden sBRe weiw e fafv e TREr B 20
A/M’)/TIW T Fewaredn T Hagaw fFragd s,
Which of the following is not a purpose behind constituting a second chamber for the Indian
Parliament ? '
(1) To give representation to Constituent States.
(2) To serve as a federal feature.
(3) To hold second thoughts or detailed discussions on Legislation.
(4) To get powerful party leaders elected to Parliament.

61. HERTSZTEAT ‘T AT WY SIS @it fae foama =
(a) o 25 Ve e TRl T
(b) 20 YeT i AN 3o TEE STALTE THMSING bt ST, ~__
(c) sﬁmmwﬁ%wﬁmmaﬁmiwﬁﬁmﬁm.p
(d) ma@m%@m@jmmm%mm,

T BT fTe A S 7
(1) @ 2 (o) (© @ N @ B @ ) (@) W (@) S ()
Consider the following statements about the ‘Public Accounts Committee’ of Maharashtra :

[ 25 members.
a) It consists of not more than )
Eb)) Not more than 20 members are nominated by the speaker.
Not more than 5 members aré nominated by the chairman of Legislative Council.
E;)) It ci)s tr:e duty of the PAC to scrutinize the Finance Accounts of the State Government.

i tatements are correct ?
\(/I;"Ch(;f t;;e 3(1:;))0\/e e ) (b) (), (d (3) (@), (b), (©) (d (4) (a)and (d) only

P.T.O.
FTTATS) AN / SPACE FOR ROUGH WORK
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62. YOTNICHT W WA B fre we o | | Breiet
(1) T ¥ uftee afeiemmed g e daceEr aHTE s LR il BRLKE
TR § 3. A18L.
(2) T FTEETEI @i A @ SR FT et S A A
WA ol dH 9 =Tl T
(3)  ITEAAE WOl ST TegIH ST YT T .
EEUSECARSCR
Which of the following statements is true about the Governor ? . - -
(1) The Governor shall not be a member of either House of Parliament or of a House of the

legislature of any state specified in the first schedule. o ' '
(2) The emolument and allowances of the Governor shall not be diminished during his term of

office.
(3) The Governor shall hold office during the pleasure of the President.

(4) All of the above.

63. WAAIH! HIVAT T HRATAT FEFATIATET HaHTd P 3Tls ?
1) TR FIHREAT el AR PR S,
(2) /R Ferer T T 9d fgE S o s i StErE. -
M DIV T AT T Y ATEIITqEl B el STES e,
(4) TqAIH TH .
Which of the following option is not correct about India’s Attorney General ?
(1) Attorney General is appointed by the President on the advice of Government.
(2) He/She must be a person who is qualified to be appointed as a judge of the Supreme Court.

(3)  He/She should have served as a judge in any High Court for ten years.
(4) None of the above.

64. JerTdE DI et ST TdeE (CAG) wT @ ?
(1) e S A A,
2) amﬁhrvﬂwmmﬁﬁmﬁwﬁamﬁm%qm%ﬁaﬂ%%w&w

ORI LR (R TR TR e —————
e - ' a WEH R A T, 3
A deval g wutd e s,
Which of the following is net one of the functions of the
Compt :
(1) to audit government expenditure. ptroller and Auditor General ?
(2) to ensure that financial rules and orders impacting governmental ex

(3) to satisfy itself that those who sanction expenditure have the legal
(4) to recommend expenditure for welfare schemes. P

penditure are obeyed.
Oowers to do so.

oAl FTHIS WM / SPACE FOR ROUGH WORK T o
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g5. T ‘ RS %“memwmwﬁfﬁmﬁﬂ
N/Kﬁanwwnaﬁ:ﬁq - T[T GHUT Arehd e . 1 _

e fyur wva Prage o w1000
2 T TRUT b H e . 1
G R SR e————"e———ny w—__—T T S
e HEEE W
TSI THIT Aha &l ]
@) P SIS R Y = o e @ o e ook gy 1000 A9
AW T TR e geeidl Je
TE THUT AIBEE w2,

(4) TP AFREAT 9d™ [ = :
o forer o Frerg Ao et s 35

In EIectior_l to the President of India, the value of the vote of MLA from the various states is decided
.by following formulae.

Total Population of State \ 1

(1) Value of the vote of MLA = No. of elected members in the 1000

State Legislative Assembly

Total Population of State 1
No. of elected members in the * 1000
State Legislative Assembly and Council

(2) Value of the vote of MLA =

= Total Population of State % 1
Total members elected and 1000
nominated to the State
Legislative Assembly and Council

(3)  Value of the vote of MLA

Total Population of State % 2
Total number of elected members in 1000
the State Legislative Assembly

(4)  Value of the vote of MLA  _
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66. WY BV AU WaTean gated aTEAERe G e ¢ < TTEBTE
(1) ﬂﬂ?ﬁuaﬁwmlzﬁwmﬁwmmq“}mw & Sl l

@ﬁﬁzﬁrﬁwﬁsogwa = e onfon & e A 1956

SIS}

/

[5)

(3)  aleT AT AR WKEr et g B |

(4) < Ru™ w9 e, i me Court ? .
Which of the following statement is not true about India’s Supre bout the composition and
(1) Article 124 to 147 and part V of the Indian Constitution informs a

powers of the Supreme Court. . resent buildin

(2)  The supreme court was inaugurated on January 26, 1950 and moved into the p g
in 1956. ) .

(3) Judges of Supreme Court are appointed by the President of India.

(4) All are true.

67. Wi fum R o
(a) WA ¥ I YN WY@ FE (nerve centre) 3T
(b) WA & T STEHTAT 3ie FHTT fioe et o).
() uRE & =g afvaEE ygE s
(d) SfrEwEE ¥ YO SAMBI (line agency) AR, e
TUTAD! BT Fra™ T a7 7

(@), (b, (9) (2) () e (d) (3)  (b) 3R (0) 4) (a) ST (b)
%der the following statements : X = —
(@) Secretariat is the nerve centre of State Administration.
(b) Secretariat consists of several departments of State Government.
(c) Secretary is the head of the State Secretariat.

(d) Secretariat is a line agencv.

Which of the above statements are correct ?

(1) (@) (b), (© (2) (0 and (d) (3) (b) and (¢ 4 (@) and (b)
68. UMY HYH HoEr : (AT THRIMB)

(a) I 1. T F@E A I (PEPSU) RftrinT fderes 1954 qeY
(b) 1991 WA T ST, ForeTerr A Wera e A o T Q;Wﬂﬂmﬁ@%aﬁ.

g Fem, RIS 31 |
() 1986 HEA el et i et wirecher e o (g Frdrere vty o
(1) %% (a), (b) B (a), (c) (3)
Select the correct staterhents. (Veto Powers of Presidetr?_ta;a ) (@ g

(a) In 1954, President Dr. Rajendra Prasad withheld his assent
(b) In 1991, President R. Venkatraman withheld his assent to tht: sPaI S APDFOpriation Bill
of the member of Parliament (Amendment) Bill. ary Allowanceg and Pension

(c) In 1986, President Zail Singh exercised the Pocket i
(Amendment) Bill. et Veto with r eSpect to the |

Answer options :
(1) Only (a), (b) (2)  Only (a), (c) (3)  Only (b), (¢)

Ndian Post Office

—9 = o ; )
L ST 67,1072 02 20 3
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(d) e q’s’ilq’ S ‘\Ttﬁam

g fee ;l??ﬁ A R foregey

1) () (b) @ @

gn)the context of Federal Systein) ST (¢) e (3)  (b), (c) amfRT (d) \-«mb) T ()

in Indi i : C
2) Supremacy of the COnStitutio;r_]dla' which of the following characteristics are correct ?

( S

(b) Division of powers between Union and th

(c) Existence of an independent jUdiCiary, e State Governments.
(d) Supremacy of the Union Cabinet.

Select the correct answer from the codes given below :

(1) (@ (®)and (d) (2) (b)and (© only (3)

(b), (c) and (d (4) (a), (b) and (c)

70, 2011 FEX HIUTET HIRAT TAHLTAT SR TR ‘Tl ehieren e Gy 3 Ml ?
(1) T iy (25 ek
(3) " R (4) orewfeETdl oy

In 2011, which Indian Prime Minister was honoured with ‘Bangladeshi Swadhinta Sammanon Award’
by the Bangladeshi Government ?

(1) Rajiv Gandhi (2) Indira Gandhi

(3) Manmohan Singh (4) Atal Bihari Vajpayee
71, ST A

‘A (T=9) ‘B’ (foreer aRwe/mEE wRER @)

(a) oTTEm™ () oFEw Gt

(b) D (i) TR TN

(© wer we (iii) e ferprer wfw

(d) oreUTEw Weul (iv) SUE 9EEd

W s

(@ (b) (c) (d)
L) @ Gy Gi) (v

(i) « (i) (iv)s (D)
() (i) » (iv) Gi)) ()
@ @) (i) (v) (i)
Match the Pairs : ‘

‘N B ‘B’ (Name of Zilla Parishad/ Panchayat Samiti)
(a) &sgs,:]ate) (i) Aanchal Samiti
(b) Karnataka (i) Mahkama Parishad
(c)  Madhya Pradesh (iii) Zilla Vikas Parishad

(d) Arunachal Pradesh (V) Janpad Panchayat
Answer options :

(@ (b) () (d)
L G Gy @iy (V)
@ Gy Gy (v O
Gy Gv) @iy ()
@ Gy Gi) Gv) (D)
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R R g g e gm—— LR LU
Hiorer Reeelt Hee ama ? ‘
(3) WNER T FRATETE qrl armvTETd e s dpard (Ombudsman) i
ST T,
(b) TR B2 srg T Fte e T g T T AT S Ay
() TR 92 frasvm.

(d) o WIGTIEN SRl TG ST T STl eI e BT W BT q
‘Nﬁﬂ?ﬁﬁ: "\_/’

(1) (@) (b) 3R (0 \.m b) T @) (3) () (© T () () FThaES

Which are the ggommendations of the SixtReport of Second Administrative Reform Commission

on Local government and Democratic Decentralisation ?

(@) A local body Ombudsman_to be constituted to look into complaints of corruption and |
mal-administration. v |

(b) A National Commission on urbanisation to be setup to suggest steps to deal with rapid
urbanisation. i

(c) Direct election of the Mayors.

(d) Set-up a metropolitan transport authority in all cities of one million plus population.

Answer options :

(1) @, (b)and(c) () (), (b)yand(d) (3) (b) (c)and () - (4) All above

73. WA AT QA BV T2 el a1 Yardl e, Solf ST STem Sewvarg SISNeEn
MR ?
(a) W TE TSArET RIBR BT ST ST ST H=ien sy Tahia .
(b) TR AT WHER, STFER ST Wi Tl WIS afessish G54 319 AFTam.
(c) Yaad TT T USHE el 37T BVAE B HeT TR, |
(d) T A TRA TAd ¢ {99 Ao Sedr . |

T s

(1) (a) &R (c) (2 (a) ®) R (© (B3) (a) (o) ST (d T S

Which of the following factors are responsible to change the role, statu$-&nd authority of the office

of the Collector after independence ?

(@) Adoption of Parliamentary System of government has caused concentrati
authority in the hands of the Minister.

(b) The District Collector has to deal with the M.P, MLA and local politica| an

(c) Panchayat Raj has led to the emergence of a new class of politicians,

(d) The Police tend to become special importance to the political Ieadership,

Answer options :

(1) (a) and (c) (2) (a), (b) and (c) (3) (@) (c) and (d) (4) Al above

on of powers and

d social bosses.
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) wﬁmmﬁmwawmwwawmﬁaﬁaww
BUBTBES! HIAT. P

(3) mmmwmmmmﬁmy
(4) TSI e Bravil ST .

T14

Which one of the following statements agaout ‘Cantonment Boards' is correct ?
(1)

(2)

The Cantonment Act of 2006 has repealed the Cantonment Act of 1924.

The President and the Vice-President of the board are elected by the elected members from
amongst themselves for a term of five years.

(3) Cantonment boards are grouped into two categories on the basis of the civil population.

(4) There are six Cantonment boards in Maharashtra.

75. fteer o= sEfEEd @ridde s FHamE) R o 1E(d) ?
(a) WW@ [T ST da1 9 gawdr g et Rieemardt fawe srwa
fraeeT of H. '
(b) a@wsmwmmmﬁﬁ.)«

(c) Tmiior ST Wi ST %X 9 qErEM gE B
i v

(1) (a) &1 () \/«4« (0) (3) wH (a) (4 9T

Which of the following statement(s) is/are true regarding the functions of Zilla Parishad ?

(@) Provide essential services and facilities to the rural and urban Population and the Planning
and Execution of the development programmes for the district.

(b) Setup and run schools in urban areas.
(c) Start primary health centers and hospitals in villages.
Answer options :

(1) (a) and () (2) Only (c), (3) Only (a) (4) Al the above

F FHHETE AN / SPACE FOR ROUGH WORK PT.O.
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76. fSeeitmrTen Yerewta Eeimier i R qiet o ?

(a)

(b) %Tc?lﬁﬂ@ﬁn’rvrésﬁ%

(O I BRI HA-Breerear ol & 78 o, -

(d) T S o, ﬁwmwmwmwﬂwwﬁgﬁmw
S B

QR TN

(1) (a) oY (b) % (2 (b) emfr () A

(3)

Which of tﬁe following are true about the office of District Collector ?

(a)
(b)
(c)
(d)

Answer options :

1)
(3)

32 B

A R ¥ ug P

@), (b). (c) R (d) ) e (9

It was created by Warren Hastings.
It was created in 1774.

It succeeded the Karori-Faujdar of Mughal Period.

Sir William Wilson compared the District Collector to a tortoise on whose back stood the
elephant of the Government of India.

(a) and (b) (2) (b) and (c)
(@), (b), (c) and (d) (4) (a) and () |

77. Wi B foae 38R o ?

)

WA “eeT’ 81 W qoyd 80 ues o,

) wzm‘m’aswmzssézsswﬁﬁwm@mﬁm
ATEY.
T~
\/@/?3WTW@L74ETHWWWHQW WO XT aifer XIA )

(4)

Which one of the following statements is incorrect ?

)
(2)

(3)

4)

Tl Thel e

‘District’ is the basic territorial unit of administration in India.

Originally, the Constitution of India made no mention of the term district’
233 to 236. except in Articles

The 73" and 74th Amendment Acts included the term district’ in th ituti
. * e
places under Part XI and XI A of the Constitution. Fonstitution at many

None of the above. x‘ YA
LA aan

AT FTETE AR / SPACE FOR ROUGH WORK
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yaTEd W] HEHTA ETiede) B are qiEg amd ? -
(a) TR WO & T S el wate wer amy. M
(b)  Werd H T FHT ST TR Ufe are g A B A,
(c) T AT TH G AT rareaas o,
(d) TETEd WA BRiE B 5 auter rEay, A—

g 74Ty fee
(1) (@ ®) @ (2 (o) (3) (@) @ (b, (), ()
Which of the following sentences are true regarding Panchayat Samiti™?

(a) Panchayat Samiti is the apex body of the Panchayat Raj system.

(b)  Panchayat Samiti acts as link between the State Government and Zilla Parishad.
(c) Itis compulsory to have one meeting in a month.

(d) Tenure of Panchayat Samiti is 5 years.

Select correct options :

(1) (@) (b) (9 (2) (9, d (3) (a) (d) 4 (b) (9 (d)

79.

BT FERIAT HERTSIA wipgmel fediero @i’ gt weedt o ?

(1) A& g g (2) oIS HEdT Wi

(3) «iftRer it \ A4 aEaE TS aft

Which Committee is also known as Committee on Democratic Decentralisation in Maharashtra ?

(1) PB. Patil Committee (2) Ashok Mehta Committee
(3) Bongirwar Committee (4) Vasantrao Naik Committee

80.

74 1 Y GEAGERN SUTEHER GHiaa sifed (TR—Jifdwn) A Hiel Basd d STErEerA
ST WAfqudTd STfeiedl 3T

(1) 243-V ( 243 - W (3) 243-Y (4) 243-Z

Municipal Councils (Nagar Palikas) are entrusted with some duties and responsibilities as enshrined

in the 74th Constitutional Amendment Act under Article

(1) 243-V (2) 243-W (3) 243-Y (4) 243-Z

81.

74 =1 SeAgEEl afibraEEy Eeais! B e swEr e ?

(1) Jo: AN 1989 ALY TG MHl TXHR &1 65 T HAGoN! [9u® Jise I T g
S oy el Bt a0 TeaEs Wl 7 R 9 | 7. —

(2) . R gEERe gHTia e fdhe 1990 we Aiew A wiy wrmairen Rasts 3

%‘é'eruggztrqégeﬁmgwﬁwwaﬁf. 1 Ui 1993 WA o WE] S, —
4) .

FAT FHTETE AET / SPACE FOR ROUGH WORK

Which one of the following statements about 74th Constitutional Amendment Act is incorrect ?

(1) Originally introduced as the 65th Amendment bill in August 1989 by the Rajiv Gandhi
governmenlt aIthgugh it was passed in the Lok Sabha but did not get assent of Rajya Sabha
and hence lapsed.

(2) Arevised Nagarpalika bill was introduced by V.P. Singh government in
Lok Sabha was dissolved. .

(3) Narasimha Rao government introduced the modified Munici

" : alities bill i
passed by the both Houses of Parliament in Dec. 1992 as the 74Ft)h amen dm;gt.sipvsai%?guagnhqc

1990 but lapsed as the

.

into force on April 1, 1993.
(4) None of the above.

P.T.O.
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82. mmmmwﬁshmwwmﬁﬁuww N
wmg@mﬁmmmﬂwwq'é' | BT
ST I W R T T i ST e 3 :
(1) uw—fadrara [%) (2) =g @) (3) d-agar (ZM—WQT (E)

than of the total numbg
Government to withdraw the Chig
fficer from service undg

If at a special meeting of Zilla Parishad in Maharashtra, not less
of councillors vote in favour of a resolution requesting the State
Executive Officer from office, the State Government shall withdraw such O
the Parishad.

2
1 3 (2
(1)  One-Half (Ej (2) Two-thirds @') (3) Three-fourth ( 4) (4) Two-fifth (5)

83. 73 = HEAIGERN HET e Fh g (3firee) Y omE 7
(1) Tl W B =

2T W Fd SR g v
3) frasvm weRmammd! feam @@ 21 a¥
(4) YOd TS WY1 @ S
Which of the following provisions (features) of the 73d Amendment Act is voluntary ?

(1) Organisation of Gram Sabha.

(2) Direct elections to all seats at all levels.

(3) 21 years to be the minimum age for contesting elections.
(4) Making Panchayat Raj as autonomous bodies.

84. %smmwmwmnmmmmmmmﬁrm
e 7 X '
(a) foreer fraem afrirel STa B
(b) fRATETS 50% SR SARET. X
(€) oY Trares emarT i Tow fo S &, —

(d) &9 wCade aaerd St sreay azmﬁgg.y

A

1) (@), b) el (@© (2 @) (M) (3) & () hr(b) BEH (0)

The 73" Constitutional Amendment Act which aims at promoting the Pancha i itutions i
the country, provides for which of the following ? yat Raj Institutions In
(a) Constitution of District Planning Committee.

(b) 50% reservation of seats for women.

(c) Establishment of State Election Commission and Finance Commission

(d) Direct elections of Members and Chairpersons at all levels. '

Answer options :
(1) (. (b)and () (2) (@) (©and(d) (3) Only(a)and (b) 4)  only (g

o1 FTTATE AR / SPACE FOR ROUGH WORK
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85. 'WWmW@WMWWWM?
(@) T FE o - oy T e yE v @ e e
BB TG,
(@) T e e - SfeEETE SRR @ B0 g Gy faraeer
SIRCARURE ] FT.
B T StftrTdl - fcendie Riebre e ARfastE o @ e B
hich of the following pairs is not correctly matched about the role and functions of the District
Collector ?
(1) As a District Magistrate - To grant, suspend or cancel licenses of arms,
_ explosives.
(2) As a District Co-ordinator - To work as the head of rationing system and control
black-marketing.
(3) As a Chief Protocol Officer in - To receive and organise the stay of VVIPs.
the District
(4) As a District Development Officer - Direction and fulfilment of development plans in the
district.

86. Wittt W SRS VT oreb W e T S st (R

I & e 7 , =
A (1) IITRT 141 Y@/ 142 (3) oIg™e 136 (4) STHT 226

Which of the following article of Constitution of India has conferred Discretionary Jurisdiction to
the Supreme Court of India ?

(1) Article 141 (2) Article 142 (3) Article 136 (4) Article 226

87. wEd I faume St &
— (a) TS TRITETS! Ueh = ~AITeH N

(b) YAH AT AT STHE ST T ST HAHNE RIaT S waren ArHRes
YT AT wd SUHR . M

T S

1) (a) RIEIA ST oM 9T (b) b TR
(@) omeT (b) Y fem™ e e,

(3) TrEm (b) ¥ (a) Faummeh wsifra é.

@) 8 faum @ e

Analyse the following two statements :

(a) ~There shall be a High Court for each state.

(b) Every High Court shall be a Court of records and Shall have all powers of such a court including
the power to punish for contempt of itself.

Answer options :

(1) (a) is correct but (b) is incorrect.

(2) (a) and (b) both statements are correct.

(3) (b) is not related to (a).
(4) Both the statements are incorrect.

TS FHTETS NN / SPACE FOR ROUGH WORK P.T.O.
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88. WWWWWWWWWWWWW
Y |

(1) WE Je st (2) WA dager
B/(’ﬂ/‘m?ﬂﬁ AL (4) adree HroEr e
As per whose approval the Supreme Court can sit at any other place in India, other than Delhi :
(1) Chief Justice of India (2) The Prime Minister of India
(3) The President of India (4) None of the above

89. ﬁﬁwﬁ%mﬁmmﬁwwmmwm?
(a) WM ESTR@
(b) eI TH =TT

(c) = Y

(d) Hea st
TR T

(@, @, (), @ @ @ ©) @, @
@) @ ) © @ @ ®)© @),

Which is the proper sequence of the court from top to bottom ?

(a) Metropolitan Magistrate

(b) Assistant Sessions Judge

(c) High Court

(d) Chief Judicial Magistrate

Answer options :

(1) (o), (d), (b) (a) @) (0 (b), (@), (a)
(3) (a), (b), (c), (d) (4)  (b) (c) (a), (d)

<A1 FATETE WM / SPACE FOR ROUGH WORK
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90. TGl R Halled rarerarear <marehyr wdl frgeia ursr argomt A i wdd A A
ST TE, ST
(a) TETEN I AATHATN e A Rha aifes rarearey fram ger 5 ad e fhar, —

(b) wmwmwmwaﬁ%aﬂ%w@ﬁmwma&aﬁwm, L—
(c) rsgueivedn ol e e fhar, v -
(d) o et 9 o < g 15 9§ erfreren st
W W
(1) T (b), (c) MM (d) T St

Pﬂ‘)/“h (@), (b) TRT (¢) T e
(3) T (a), () MM (d) T amed
(4) @ (a), (b) ST (d) TrFT e _
A person shall not be qualified for appointment as Judge of the Supreme Court unless he is a
citizen of India and :
(a) has been for last 5 yrs a Judge of a High Court or of two or more such Courts in succession, or
(b) has been for at least 10 yrs an advocate of a High Court or of two or more such Courts of

succession, or :

(c) s in the opinion of the President, a distinguished Jurists, or
(d) has been Practicing in sessions court for at least 15 yrs.
Answer options :
(1) option (b), (c) and (d) are correct
(2) option (a), (b) and (c) are correct
(3) option (a), (c) and (d) are correct
(4) option (a), (b) and (d) are correct

91.\3@%@1&&15&@%@1@«6@%30%3@%%& 3.
T ST T QAN ST ARETEreY TEe SR
~ (2) TR TS U fEdetisn ST HfewiETs! TEe s
(3) UGV ST T TgAtst SN Afewiend! TEd S
(4) T ARTIEAT G JAIGHST ST HARHEIS T ST
Salient feature of article 243 D of 73" and 74t Constitution Amendment Act is :
(1) One-third of the total number of seats to be reserved for women
(2) One-half of the total number of seats to be reserved for women

(3) One-fourth of the total number of seats to be reserved for women
(4) Two-third of the total number of seats to be reserved for women

92. @@ faam fa=ra =
(a) a7 ST ST o TSTIIRIT a6 %Al X el S,

(b) 1990 T I T &=l ST il © ,__ﬁ@wﬁmwmaﬁrm@; 4
o Rra/ TR SHTE/STRd 7 -
(1) % (a) (2) wa (b) (3) @emr) |, () e @

Consider the following statements : .
(a) Employment increased at a slower rate as compared to output in the services sector.

(b) Growth of average productivity of labour in India was higher than employment growth in
services sector during the period of 1990's.

Which of the statement is given above is/are correct ?

(1) Only (2) (2) Only (b) (3) (a) and (b) (4) None of these

FA1 FTHTETS AT / SPACE FOR ROUGH WORK P.T.O.
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93. 743 9o TORTER wrown A onasa® ST 7
(@) T fraver s e

(b)  TTgH WA wrer »
() Tveromey
(d)@’ﬁ"&_—\ R e
W S

() (a) sy (q) \,(2)/th'éﬁ(a) (3) (a) ST (b) (4) A T

Which things are essential according to 74th Constitution Amendment ?
(@)  Establishment of District Planning Committee

(b)  Establishment of Taluka Committee
(c) Right to Education
(d) Establishment of Mah

anagar Committee
Answer options : ==
(1) (a) and (d) (2) Only (a) (3) (a) and (b) (4) Al above
94. AW IR R sl R TR ST
1) < m | 3) wefw (4) de™
The market and economic planning in India is to one another.
(1) Supplementary - (2

Complementary (3) Competative (4) Neutral

~&g

95, mﬁwwmaﬁaﬁwﬁﬁmm

(a) WWTWMMG‘% n—
i e U L TR b SN

(©) Wwwwmmmw%ﬁam. \ ) B
BAGLEE R

are correct ?

(1) (a) and (b) (2) (b) and (c) (3)  (a) and (¢ 4) Al of the above
96. Tl ot siwEvar e wg T ?

() R SR (b) mthwaaw&nﬁaaaa;ﬁ

() o9 7 i syume wo (d)  orfree sy

A S

(1) (a) enfer (b) (@) (a) sl () (3) W (o)
What are the base for Identification of class of Poor ?
(a) Landless agricultural labour

St

(b)  Rural ang urba
(c) Small and marginal holding labour (d)  Uneducateg pe"rch’)?‘or Person
Answer options :
(1) (a) and (b) (2) (a) and (c) (3) Only (b)

4) Al above
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97. e Tferisht ®ror srisem Rrrdig e 7
(a) Ueblicqs AT e wrdmm
(b) R o A
() & fao™ srimy
(d) arroT freor |
@R S
, (@ s o) (2) & (b) (3) e A Mﬁﬁmﬁ
Which Programme are related to poverty alleviation ?
(@) LRD.P [Integrated Rural Development Programme]
(b) LA. [Indira Awas Yojana]
(c) Road Development Programme
(d) Rural Education
Answer options : :
(1) () and (b) (2) Only (b) (3) Noneofthese (4) All above
98. WMIWUH! AR YT BV ? S .
(a) wremeTer S (b)) TR e
(c) umISe T (d) s s ,.
TR W . =y
(1) (a) ST (b) 2 (@ bR (© B) (a) (b) s ‘(d)\/w/trﬁeé‘r a4
Which of the following are types of planning ? | ] g
(a) Democratic Planning (b) Totalitarian Planning
(c) Social Planning (d) Centralised Planning
Answer options :
(1) (a) and (b) (2) (a), (b)and (@ (3) (a) (b)and(d) (4) All above
99. ﬁﬁmﬁmm@%@m@%mﬁam (GDP) TT T
Bra.
1) 35 @ 57 B 59 @ a2 |
The average GDP growth rate during the later phase of planning from 1981 to 2012 was __* >
ercent.
?1) 3.5 (2) 57 (3) 59 4) 42
loo.m,@@qmﬁW(RLEGP)WWWW? N
(1) 15 &l 1972 15 %P 1983 (3) 15@TTR 1991  (4) 15 StT 1993
When the Rural Landless Employment Guarantee Programme (RLEGP) was launched ?
(1) 15August1972 (2) 15August1983 (3) 15August1991 (4) 15 August 1993
-00o0-
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